Introduction to Cryptography
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= A Cryptographic Game
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Lo A A5

B “4r % (encryption) ¥ iz (decryption)
Z_ #5 5
B < (plaintext); %~ (ciphertext)
B 42 24k (encryption key); 2% £ 4
(decryption key)
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A £ % F (SKC)

m A% £ 4z (secret-key) k ki:
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SECURE CHANNEL: Low rate, expensive

INSECURE CHANNEL: High rate, inexpensive
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=ikt &4+ % F-- Basic Idea
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"Enhancement
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&3 & 44 2 B - Example

m DES (Data Encryption Standard) %
Hl 4 AL
m 1977&4d IBM2 ¢ @ B i RER
it TN S
m DESa % B.~ /] 564 bits » % i (key) L
& % 56 bits

, 1280486(33MH2) %
Gl B EIE R B LS /40600 i F H.
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L1=R0 R1=LOD f (R0, K1)
i: < 7 l.
r* s ———— =TT T o 77771
L2=R1 R2=L1p f(R1,K2)
v v
L15=R14 R15=L14®f(R14, K15)
3 < l.
'
R16=L15®f(R15, K16) L16=R15
'
1Pt
RN
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s O 44k (public-key) 4 %
Y WY SR 3Y R
- Ker;'ﬁKdr

s KA 2B 5 KyB B% 5 Kok Kyt e E 38
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B g4 2 B -- Basic ldea

S FIEER AR
. %ﬁ‘ FlEc s fER oy
21 =7 x7?
301 =?x%x7?
4119223 = ? x ?
6096600556864453079942203 = ? x ?

m HEATHER AL
a=Db°modd: %=za,b,d, ¥fic




~ B g4 B -- Example

B RSAS R £4 %8 4 b
m 1977 4 R. Rivest A Shamir, % L.

Adlemanz= =g 1 Fraorg B Ik
O ?%f"?’\«}'ét@ﬁg{_“ 3_
21 =3 x7

391 =17 x 23

4119223 = 1933 x 2131

6096600556864453079942203 =
1331677695151 x 4578135219253
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o= EPa B~ F#19334r2131 0 & 415 Bk ff
N=pxq=1933x2131=4119223
EB- ey (T4 % 2K, (2B £4)
Ker 2 € =11
PEez ik F AAd T3 %2 TKy (F % 44)
% ¥ exd=1 mod 1932x2130
Ky - d=748211
bv iz pER-P 2 M=2245613 #ik s 2~ C
C=2245613*"! mod 4119223 = 771889
R CEHZY 2
M=771889748211 mod 4119223 = 2245613
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Diffie-Hellman Public Key Exchange

Alice Bob

— X

Y,=g*» mod p
YA YB

A w exchange

Ys Attacker can obtain
Y, or Yg but not X,
or Xg
Z=Yg"~ mod p Z=Y,"s mod p
=QgX8" XA =gXa™Xe
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m R L5825 % 58 (Hybrid Cryptosystem)
BT 2 N - AR DR A4k LR IR
(D)o 242 3, Q% %
TR T B RN ol f2 2 F T
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B AT MASEORE T o o BT 2 Py 1
R AL SR AL AS o I AP e S
CED I L TN e‘t«*%ﬂf;ﬂ_@i@ﬁ? *

o &agiiﬁmﬁmi, 7RI L HRET A
5ELBERNT LG 2 %H

s RSA#= %% (% % M%d“ % ﬁif\%%%)

£ EpEap 2 M=2245613 ## X § % S

S = 2245613748211 mod 4119223
HEEFERET S B

M = S11= 2245613 mod 4119223
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£ 4 ¢ 72 (Key Management)
s (DRTAHE OB A4 5 b

Public-key Center

21 T S B



(2) FER G S TRk S

e

;L
Master key

T EM K Ky Ky Ky Ks

AW /TN

3 0% &4 Ky K Kig Ky Ks; Kso Ksz Kgy

() irim w1 &4 (X 2 & 7T @& ¥ )

REABF? RSB AR R
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- f® A 3 (secret sharing) & #F = %
(threshold scheme)

Y| * 3 TR y=F(x) T
y FHART TR TE:
6
v / “4 out of 6”
4 -
secret sharing
Y3
Xl X2 -
Y, X3 X4 X5 Xe ]
Y, .
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'O\ Lagrange polynomial

Interpolation
m from Wiki

m To interpolate f(X) = x? given three points

Ip = 1 f(:'lfg:l =1
X — 2 f(iiﬁ} =4

-— E

Jd L N P 5 | g A — AL Jd — D JL = L Jd = L

12 1-3 431 3237?31 332

L(T) =1
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(1) A2 BERE 02 P2 Ml GE 3
& dgt B2 EDP)

B v BEREIIFENR LA 4kE B 2 E B
Q)FE2z2E; (b) sz 22 2 F;
(c) % %ﬁ/%@%’v‘ i (d)FHEE# R

O] ,3“: on b ;F'— ;+7 F)t?‘:lz MT:JP?E'))& —L;‘:"L—;E—';

T <tz £ B o

PJdﬂWﬂ%%i%%m

s iSRS b
< ¥20& - 2B ARFFLIOETF o
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CINORE TN YT ¥:3
e B4 5% br @ Ei?
Rlvest HE > 2455 R2LER

& X & 4~ & (bit)

2 (E T g = e
1990 398 515 1289
1995 405 542 1399
2000 422 572 1512
2005 439 602 1628
2010 455 631 1754
2015 472 0661 1884
2020 489 677 2017
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Diffie, Rivest, Schneier® A % > £4£ B 2 1%
& 4+ Jx (bit) T rAR
40 e A
20 E MR
£ Mo m T EMEES 2T R
A EAfk i k3208 p 2% 23 &




m PKC or SKC or Hybrid? Or, something?

SR N
T{Q}ﬁ\;";g
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